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a. Enlarge training set

b. Multiplier from 2 to 15

c. Split tree before compress

d. Conditional compress (exclude suffix list)

e. remove single word



Hybrid Model Performance Comparison (Before)

B} precision ____Jrecall ______|Fiscore

Jieba 30.93% 44.65% 35.93%
PKUseg 37% 61.2% 46.16%

OCtree into user dictionary

A lprecision _lrecall _____ |Fisore

Jieba-> Jieba 43.76% 41.69% 42.7%
PKUseg = Jieba 44.86% 43.21% 44%
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IMPORTANT:
Note that the resume entry tend to be segmented into after the

compressed OCtree was added in.

EXAMPLES:
Ground True

A= BRI, “BWEC, T L A AR, “RRE", “ER]

Pre segment

Bl - [((\I;T%:U”I—_i?u’ u%&]ﬁﬂ B:II’ ”};Ail%l%”, o EE‘%;”, «“ EEA%)II_I_A”; u% u’ uﬁ‘ BEZ\E‘T};’ ”%JIEI /K\”, HE‘EFI%‘H] @

After Octree
B2 = [ “FRINFTFHR”, “JHezgedE@aRAE" ", “é"% T, fEzRET ]
2



exclude_suffix = ["&", A", Bl &, T, E A, R R,
LK BT I R RS, B, R

This way, “URYIITT” “FH#AIX” and “& H KZ” 7 [8 5% ML” will not be compressed into
one node.
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These modifications can well solved the problem we talked in last meeting.



Results and Comparison  (whole offline process)

BisE  precision _|recall ____|Flscore

Jieba 30.93% 44.65% 35.93%
PKUseg 37% 61.2% 46.16%

l OCtree into user dictionary

Jieba 43.76% 41.69% 42.7%
PKUseg 44.86% 43.21% 44%

l Modifications talked in last slide
Jieba 64.91% 68.56% 66.69%

PKUseg 68.41% 75.48% 71.77% All Metrics increase a lot !!!



Real examples
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Problems in not compressing leaf nodes

We compress the node and its child when the node has only one child.
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we would not compress the last two nodes because we pre-assume that only
the leaf node represents a position. (why?)
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Therefore, we still separate “= 22 3” and “B#” in the final segmentation
results. In the future, we consider trying part-of-speech tagging to solve it.



